Mold Equipment
ZAJ\N—75/\—

2A/N—1/V—

RESRIORIHERRIC 2 (/N —%&
BOSRELET,

NEGLED SOV TEREIC
UM THELTEITRY . (EEE
B EMET 5MRLHYET,

(& 4mm)

EEI—F | 20— | AR & AH (Gl

TBR-125 38 ~ 48 38 26

TBR-200 50 ~60 50 26

TBR-250 63 ~73 63 29

TBR-300 76 ~ 86 76 29 ® 16

TBR-350 89 ~99 89 32 216

TBR-400 102 ~ 124 102 32

TBR-500 127 ~ 149 127 38

TBR-600 152 ~ 175 152 38
ZA/N—=7/—  MIORAN—HN—EEA NI Y ADEED SR —

REL. XA/ \— Doz RELET.
W4ATIEY RTY.

s e ty k
p= sgra—r | 7| 28 A
IPSTC-2 50
&: 747 IPSTC-3 75 1140
y IPSTC-4 100 .
’ IPSTC-5 125 | 1270 R
IPSTC-6 150 =
PSTC7 | 175 X243 La e
IPSTC-8 200 HIN—DIER 7= F%E
= N IPSTC-9 225 1470 .
W . IPSTC10 | 250 RZES
o IV X TS TN B
z};g)%z‘ IPSTC-11 275 (E_IEJJ'T,EU)
RUTRF (& 4 TA—) G IPSTC-12 300
(Th. I UR) TSAF v IIwIN—
TS5k —XoYw 7 FoEO— R FITAR | BOh— IR ks
' PHC-1-12M M12x1.75
PHC-1-14M M14x2.0 16~ 29mm
PHC-1-16M M16 x 2.0
S /\ ) PHC-1-20M M20x 2.5
! ~) PHC-2-12M M12x 1.75
) — PHC-2-14M M14x 2.0 9.5 ~ 19mm
4 PHC-2-16M M16 x 2.0 :
Ed PHC-2-20M M20 x 2.5
FEI— R PHCT PHC2
&R 65 60
Lz 95 95 WA — ZDBEFEPET ORI,
g1)w THER 43 51 BR—2EHDIEE,
71y T 29 19 BEEALEDTST VI
F=AAAY AR 16 9.5 PEAN LR

85



